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TABLE 7 .2: Steps for finding the error-location polynomial of
the (15,9) RS code over GF(24).
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. Step 2.

Step 3.

a<">(X) dµ Iµ. µ,- Iµ 

1 1 0 -1
1 al2 0 0 
1 +a12X a7 1 0(take p = -1)
l+a3X 1 1 l(take p = 0)
1 + a3X +a3X2 a7 2 l(take p = 0)
1 + a4X + a12x2 alO 2 2(take p = 2)
1 +a7X + a4X2 + a6X3 0 3 2(take p = 3)
1 +a7X +a4X2 +a6X3 

To find the error-location polynomial a(X), we fill out Table 7.1 and
obtain Table 7.2. Thus, a(X) = 1 + a7X + a4x2 + a6x3 • 
By substituting 1, a, a2 , • .. , a14 into a (X), we find that a3 , a9, and
a12 are roots of a(X). The reciprocals of these roots are a12, a6, and
a3

, which are the error-location numbers of the error pattern e(X).

Thus, errors occur at positions x3 , x6, and x12.
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